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QUESTION 12 
TOTAL POINT VALUE: 2.5 LEARNING OBJECTIVE: C1 
SAMPLE ANSWERS 
Sample 1 
 
Unpaid at 12/31/2014 = Incurred Loss Part 2K - Cumulative Paid Losses Part 3K 
 

 
 
Unpaid at 12/31/2015 = Unpaid at 12/31/2014 + Unpaid at 12/31/2015 
 

 
 
Paid at 12/31/2015 - Paid at 12/31/14 (excluding 2013 paid) + CY Paid in 2015  
 

 
 

 
 
Part 2 Incurred at 12/31/15 = Paid at 12/31/15 + Unpaid at 12/31/15 
 

 
 

 
 
 
Sample 2 
 
Unpaid at 12/31/2014 = Incurred Loss Part 2K - Cumulative Paid Losses Part 3K 
 

Year 2013 2014 Year 2013 2014
Prior 50 75 Prior = 500 -450 = 550 - 475
2013 200 600 2013 = 800 - 600 = 1,300 - 700

Year 2013 2014 2015 Year 2013 2014 2015
Prior 250 675 50 Prior = 50 + 200 = 75 + 600 = 15 + 35

Year 2013 2014 2015
Prior 0 125 165

Year 2013 2014 2015
Prior = 0 = (475 - 450) + (700 - 600) = (475 - 450) + (700 - 600) + 10 + 30

Year 2013 2014 2015
Prior 250 800 215

Year 2013 2014 2015
Prior = 250 + 0 = 675 + 125 = 50 + 165
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Unpaid at 12/31/2015 = Unpaid at 12/31/2014 + Unpaid at 12/31/2015 
 

 
 

  
*Assuming the provided 15 and 35 unpaid loss and DCC amounts represent the change in unpaid 
and not the unpaid amounts at year end. 
 
Paid at 12/31/2015 - Paid at 12/31/14 (excluding 2013 paid) + CY Paid in 2015  
 

 
 

 
 
Part 2 Incurred at 12/31/15 = Paid at 12/31/15 + Unpaid at 12/31/15 
 

 
 

 
 
 
Sample 3 
 
Incurred @ 12/31/2013 for a 2015 statement 
250 = (500 - 450) + (800 - 600) + 0  
                                 
Incurred  @ 12/31/2014 for a 2015 statement 
800 = (550 - 475) + (1300 - 700) + (475 - 450) + (700 -600)  
                                 

Year 2013 2014 Year 2013 2014
Prior 50 75 Prior = 500 -450 = 550 - 475
2013 200 600 2013 = 800 - 600 = 1,300 - 700

Year 2013 2014 2015
Prior 250 675 725*

Year 2013 2014 2015
Prior = 50 + 200 = 75 + 600 = 75 + 675 + 15 + 35

Year 2013 2014 2015
Prior 0 125 165

Year 2013 2014 2015
Prior = 0 = (475 - 450) + (700 - 600) = (475 - 450) + (700 - 600) + 10 + 30

Year 2013 2014 2015
Prior 250 800 890

Year 2013 2014 2015
Prior = 250 + 0 = 675 + 125 = 725 + 165



 
 SAMPLE ANSWERS AND EXAMINER’S REPORT  

 

   

Incurred @ 12/31/2015 for a 2015 statement 
215 = (15 + 35) + (125 + 10 + 30) 
 
 
Sample 4 
 
Incurred @ 12/31/2013 for a 2015 statement 
250 = (500 - 450) + (800 - 600) + 0  
                                 
Incurred  @ 12/31/2014 for a 2015 statement 
800 = (550 - 475) + (1300 - 700) + (475 - 450) + (700 -600)  
                                 
Incurred @ 12/31/2015 for a 2015 statement 
890 = (550 - 475) + (1300 - 700) + (15 + 35) + (125 + 10 + 30) 
*Assuming the provided 15 and 35 unpaid loss and DCC amounts represent the change in unpaid 
and not the unpaid amounts at year end. 
 
Sample 5 
 
Incurred @ 12/31/2013 for a 2015 statement 
250 = (500 - 450) + (800 - 600) + 0  
                                 
Incurred  @ 12/31/2014 for a 2015 statement 
800 = 250 + (550 - 500) + (1300 - 800)  
                                 
Incurred @ 12/31/2015 for a 2015 statement 
215 = 800 - (600 + 75) + (15 + 35) + (10 + 30) 
 
Sample 6 
 
Incurred @ 12/31/2013 for a 2015 statement 
250 = (500 - 450) + (800 - 600) + 0  
                                 
Incurred  @ 12/31/2014 for a 2015 statement 
800 = 250 + (550 - 500) + (1300 - 800)  
                                 
Incurred @ 12/31/2015 for a 2015 statement 
890 = 800 + (15 + 35) + (10 + 30) 
*Assuming the provided 15 and 35 unpaid loss and DCC amounts represent the change in unpaid 
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and not the unpaid amounts at year end. 

EXAMINER’S REPORT 
The candidates were expected to know how to calculate the prior year in Schedule P. 
 
The question provided Unpaid Loss & DCC information for 2015 as of December 31, 2015. Some 
candidates misinterpreted the information to be the change in unpaid. If a candidate provided an 
assumption stating the data represented the change in unpaid and the answers calculated match 
Sample 2, 4, or 6 above, the candidate received full credit. 
 
Common mistakes included: 
• Candidates did not add the prior and 2013 rows from the 2014 Schedule P 
• Candidates did not add both the prior and 2013 paid (10 + 30) and unpaid (15 + 35) amounts 

together when calculating the prior year row as of 2015 
• Candidates relied on the 2015 paid (625) and unpaid (300) amounts provided in question when 

calculating the prior year row as of 2015 
 
  




